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(793 25) 1 7013 NHNVY

:INAN ©XDXN DY NN (P 16-/N)

u, =4u,, x>0t>0
u(x,0)=x*, x>0

U, (x,0)=sinx, x>0
u(0,t)=0, t>0

.u(;r,?’?”) VN

: X2+ y? <2 -1 NN NNIN YN SV NIND 33 1IN (/P 9-1)
2Au-u=sinx, X +Yy’ <2,
ou

—=y, X*+y*=2
on Y 4



(793 25) 2 7O NHNVY

NN, IRNWNN NN PN .U, —6U, +U, = X7y DRNYNN NN (1P 15-/N)
SNNVNN DWW OO NIND RINNDDY TPMNP NNIND

AU=— X2+ 2 ’ X, D, i
{ (C+y) (xy)e mYyan NI’ ue C*(D)NC(D) > (P 10-2)

ux,y)=0, (xy)eaD,
(D= [-L1]x[-L1] w9 % <u(0,0) < % -Y NY . D = (-1, x(-1,1) M2

V(X Y) = u(x,y) + %(x“ +y*) MNPN92 NHIAND V)

('3 25) 3 "o NINY
NONRID NNDN NITYA DIN IRNWNID WP NMYI NN NN ('PI 15-/N)
U =a‘u,, —-w<X<ow, t>0,

u(x,0)= f(x) =€, —oo<x<on.
D7) NRNVNY WP Ny NNM ('PI 10-72)
u, =a’u,, —o<X<ow, t>0,
u(x,0) = f(x), u,(x0)=9g(x), o< X<®
. X=D DN MY YD PNINON DI NN NPT NVPIPND N f(X), g(X) TIWND

(93 25) 4 701 NNV
NPIVIP MOLNDTIINIPA NININ YA PIND INND .WAP a <1 PN (P 19 'R)

U, ++U, +3U, +5U=0, 0<f<7z0<r<],
u(r,0)=u(r,7)=0, 0<r <1,
u@e)=60°-70, 0<0<r
2PV NPYNXIN 2220 1 DPTI2 510Y2 u(X,y) TPNNIN ISPND DN (1P 6 /1)
.a NN NINDY .u(0,0) =0 " PNI . X +a NIN DINYN Nov DY

TONININ-NON DIND TOYA NN NN (V93 25) § 791 NHNY

ut—uxx=3tz+e’%sin(§x), O<x<mt>0,
u(x,0) = x+sin(3), 0<x<,
u(o,t) =t%, u,(rz,t)=1, t>0.

SW(X,t) = a(t) + b(t)x NN NPIN TONPNS” WOND 07



